to extend to go beyond

in this lesson we fearn the following: L d p
| (5855554

(1) Verbs are either transitive or intransitive. A transitive verb (6.\3..1.5\ J.u}\) needs a subject which

does the action, and an object which is affected by the action, e.g. d’c‘\’r‘“ |

%’ o WL>J\ \...>J\ J.S “The soldier killed the spy.’

Here the soldier did the killing, so the word ;gJ.;J\ is the fa'il (the subject), and the one affected

by the killing is the spy. So the word . s\l is the maf'iil bihi (the object). Here is another

example:

. 4..;.<.‘\ ?3\.&5\ ale ('..,_.a\);! J:;’ ‘Ibrihim (peace be on him) built the Ka‘bah.’

. " s Mo, . . . o o
An intransitive verb (D‘}U\ J:.AJ\) needs only a subject which does the action. Its action is

confined to the subject, and does not affect others, e.g.:

',»“..L‘J‘ é}; “T'he teacher was happy.’ &ﬁ :

The subject of certain verbs affect others but not directly. They do this with the help of prepositions,
e.g.:
‘I looked at him.”, *“We believe in God.”. This happens in Arabic also, e.g.:

%

° 2 1 ¥ —% : ,
. OW\ o..,.}UaJ\ ,L» :f).u\ —a¥ “The teacher got angry with the Tazy student. ﬁl"'l‘gn

E_ 3 M\ 6“ /JL: e_....h.: ‘I took the patient to hospital.’
J..>J\ J\ bjh; ‘We looked at the mountain.’

gs"‘ u...l.o d....w e 9.9) J“" ‘Whoever dislikes my way is not of me.’
& . H
@"’S )..Lo Cg..» Q_Lc C.Uo\ Ol W )‘ ‘I want to look into the syllabus of your school.’
E'FY‘ NV }AMJ\ j g.,&)‘y ‘I don't like to travel this week.’ D

The object of such a verb is called ,x.g,,a)\ };& J);.MJ\ (inexplicit object). It is majriir because
indirect object

of the preposition, but it is in the place of nash (v..,a; J>u j)

These prepositions when comes to the indirect object change the meaning of the verb.

5 5 - . - . - .
' Note that 9&5&“ & % means to like a thing andg'g‘ | & £ means to dislike it.

TRANSITIVE OR INTRANSITIVE VERESZA!



(2) How to make an intransitive verb transitive?
Wes ay in Fnz,hsh ‘Rise zmd raise your hand’. Rne s mlrzmsmvc and by chanyng lhc pattern of

Ll Y
. 00K T CHitia,
This process of changing an intransitive verb into a transitive verb by doubling the second radical
YD

/ 1 Y ow . )
) yy.00 1 called a2 (doubling). wly owl swu/? 4L/

b) hab af*ala (vh.él), e.g. FL\

p .
;,.J>- (jalasa) ‘he sat’ ¢ ko= (ajlasa) ‘he seated’
N
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A“ 3&0“;.

‘I sat in the first row and | <cated the child by my side.’

The hamzah which is prefixed to the verb in hab af ala is called LAl 5 a2 (the transitive

hamzah).
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Certain verbs can be changed to both of these abwaib, e.g.: J 7o J # and J }.\

Most verb can be changed to either of these. One must learn this from books and dictionaries.
If a transitive verb is transferred to any of these two ahwab it becomes doubly transitive and takes
two objects, c.g.'

wl | I T g » )

Transitive }dl dall w .3 ‘I studied Arabic, Z

. |
Here the vcrb ~ 1> has one object i,
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Double transitive }J\ alll & | taught you Arabic.

e A ap d‘bd&’ :
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Here it has two objects: ‘) and dal!
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Double transitive
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(3) (s ) (ardi) *he showed” is hib af‘ala from SV *he saw’. It was originally (g1} (ar’d), but the second
Y T
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hamzah has been omitted. The mudari'is (& » (yuri) and the amr is )\ (ari).

s
This}is how the amris isn-ﬁdcd to :?eogntnl.};‘:r pronouns of the secon.d persor:: ‘ cibl;o
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(4) We have just seen that when a verb is transferred to hab fa“'ala it becomes transitive, e.g.: J 7

from J}o If the verb is already transitive with one object it becomes doubly transitive with two

objects, e.g.: Q»js from &.}3 i

moirc

This hab also signifies an extensive or intensive action. In Arabic the first is called ’,,g:.“ and the

A~
second dxJLoJ.
a) an extensive action is one done on a large scale, or done repeatedly, €.g.: The same action performs many objects
e 3\5-3 é,’-.’d\ s “The criminal killed a man.’ but
N ) i, o
. f\.j}ij\ J.b\ (J,’.\.U\ J:'i “The criminal massacred the people of the village.’
P . » x - 2 M N <
. .;\l.,J‘ RV < N ES ‘I went round this country” but Vecgion
- ) N e AT . 0
.- K - - . 2 » - ° ’ | 7:}‘
. Lg.r_)\.cu} uo;Y\ SHlaa 4 s;-.‘;’- ‘I travelled extensively all over the world.” i
P
. QU\ b ‘I opened the door.” but m
2 A . of A e o p . ’
. JM\ s_)‘)._l‘ e 1T ‘I opened the doors of the classrooms.
AT A rgy *. . .
LAl J.’-;J\ Ae ‘The man counted his money.’ but
T -0 .
calle J.;- LN “The man repeatedly counted his money.’

b) An intensive action is one done thoroughly and with great force, €.2.:  Only once but with great force

3
-u * 2

ESPLS | oo ‘T broke the giass.” but |-/ F
- ,/h k) & -
S P e ‘I smashed the glass.” Eg
1 ~ 2 2 0% = X .
#o_ . o) Cnlad [ cut the rope.
. a L
T kel ‘I cut the rope to pieces.’

Note that the extensive action affects a number of objects, or one object a number of times, whereas
an intensive action j i {
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(5) '._JBKSJ\ | means ‘Beware of dogs!”.[This is called ..\~<=!| (warning). 7 Goo i
~ Note that the noun after the wan is mans /L0 Warn someone using the expression /-- =
) /

_\\_;‘_ is for masculine singular. For masculine plural it is > U', feminine singular £} and for

*

feminine plural -5 . It may consist of the particle & to which the second person pronoun is suffixed to it.

Here is a [m«/i/h-

e o R R I R

i 'i 2, ‘ N :b P ‘ .In/. P 'i f).\; - P .,‘ o,/llj" &-‘Nrsu‘fﬁu}lﬂ#\
e P iy LS o JU s cAlwuily o Q) ujwwmdﬁuuﬂu&i
‘Beware of jealousy, for jealousy eats up good deeds just as fire eats up firewood.’ ‘,\,.| ks

rendering the lollowm;_. noun mansiih.

/’
We say uL.Jb JL«.‘«Y\ Lu\ *Actions are judged only by the intentions.” Here JL«PY\ is marfii'

and not munsuh.
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Unlike O) the word L) is used in a verbal sentence as well, e.g.:
L] 5

Lie

® -
h, A - . ¢ . . «
o A L) He is only telling a lie.

In the Qur’an (9:18):

(7) 'L‘ ‘By Alldh™ is an oath'”, In Arabic it is called 4.2\, and the statement that follows the qgasam

wl |
called jowah al-qasam (,_,._.U\ 2 a).

\}:.5 ..;,.;-)9 A4 A.U‘} ‘By Allah, I was greatly delighted.’ Q

If however, the verb is mqdc/i but negative, it does not take the emphatic particle, e.g.:

1.:.;" Le :JJ\)' ‘By Allih, I did not see him."®




(8) The verb s is a sister of O, It means *he became in the evening’, e.g.:

F s, P 1 3
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W) ? W hat ou surien g om, Zamab? \V /

.
Note that many words denoting disease are on the pattern of _J\é (fu*dlun), e.g.:

o Lo
o ¢l ‘headache’ B8 “cold? Y
d (=)

q‘ a5 vertigo’ JWs  “cough’. .?C

¢ °

(10) One of the patterns of the masdar is Jl,u (fa*dlun), e.g.:

T " . s o s 2 1 o ’ " LI . e :
& Sas ‘going’ from a3 > >0 ‘success’ from zes.
- N ~

(11) The plural of p b is :5' ; and the plural of"é’ is o.:a\i' .
w/

This is called M\ w (the plural of the plural). Some nouns have {.«:J\ Ao, .0
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A ‘hand’ @ ; —
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The aos \ c..’- mostly has the meaning of the plural. But in some cases it has a different meaning,

e.g.
f f
1

.;Lgi means “hands’ .3\3 means “favours’

o ‘ ’ IR . T
& ¢ means ‘houses U g0 means ‘respectable families’.




(12) §) ‘he knew’, (¢ Sl *he made (him) know’, i.e. ‘he informed (him)’.

o et . o
¢ &J&a & 5\)5\ L ‘And what informed you that he is telling a lie?”

of Decree is. The night of Decree is better than a thousand months.’

This expression has been used in the Qur'an-about thirteen times, ———————

(13) The meaning of the poetic line: 4
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‘I Imvc not seen anything Ilkc a good deed: its taste is sweet, and its face is beautiful,” ¥

This line is used in some editions instead of the following line:

L ™ I o‘/

3 el Ly
“The fact that the word s/iumy is feminine is no discredit to the sun, nor is the masculine gender
of hilil a matter of pride for the moon.’
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is al toJ smiyah to negate the whol




